Genkt en Denkt *** Cl ubTornooi *** 4 giften per ronde *** 22/06/2018 NZ OW|gift 1 NZ OW gift 2 NZ OW gift 3 N2 Ow gift 4 N2 OW
1 DI RKX Anny- KUYKENS M el 2 TETI Jean- SCHOUTEDEN Jean 1 2 13 3 130 N2K+2| 13 3 100 BBN-2| 4 12 -50 NAN1 11 5 140 N2H+1
3 MOORS Lea- DI NGENS Mar cel 4 PLESSERS Jul i a- JEHOUL Pi et 15 16 4 12 50 ®2H-1 6 10 -90 OLN= 16 0 150 N3K+2 14 110 N2H=
5 DE BRUI JN Ri a- WOUTERS Moni que 6 WLLEMS Hubert-Dl LI EN Fons 10 11 8 8 90 N1N= 6 10 -90 OLN= 4 12 -50 NIN-1 14 110 Z2H=
7 THEUNI SSEN Jos- STEYFKENS Roger 8 PECI NOVSKY Robert - COCHET Franci ne 4 7 4 12 50 WLH- 1 0 16 -120 OLN+1 14 2 100 PH1 14 110 N2HE
9 BOELEN Jan- VANDERBI ESEN Hi | de 10 LEMVENS El | y- SERROYEN Josette 3 12 0 16 -90 OLN= 6 10 -90 OLN= 11 5 90 NIN= 11 5 140 N2H+1
11 DANI ELS Remi - REMANS Li eve 12 HENDRI KX Rosett e- VANDECAN Nancy 13 6 4 12 50 VeH 1 6 10 -90 OLN= 4 12 -50 NIN-1 11 5 140 Z2H+1
13 CRAEGHS M et - LENAERTS Nar da 14 W LLEMS Lisette- SAENEN Rene
15 QUETI N Raynond- GHEKI ERE Jo 16 ALDERS Lea- FLAVEY Jeani ne 9 14110 6 100 VBH2 | 6 10 -90 GIN= | 4 12 -50 NIN-1 | 6 10 120 NIN+1
17 DAENEN Hi | de- VERVAET Jo 18 HEI NRYCH Mat hi | de- SM TS Pet er 17 8 | 16 0 150 GBH3| 16 0 150 GBH3) 4 12 -50 NIN-1 | 11 5 140 N2kl
5 18 13 3 130 Z2K+2| 13 3 100 H2| 11 5 90 NIN= 16 0 170 Z2H+2
NZ OW|gift 5 NZ OV gift 6 N2 OV gift 7 N2 OW gift 8 N2 OW NZ OW|gift 9 N2 OW gift 10 Nz oW gift 11 N2 oW gift 12 Nz oW
3 4 1 15 -430 OBN+1 0 16 -150 N2R-3 6 10 650 Z4H+1 2 14 -50 Z3H1 5 6 9 7 -140 2S+1 14 200 WS- 2 8 8 100 Ws-2 13 3 150 Z1N+2
17 18 15 1 50 GBN-1| 15 1 200 2N-2| 16 0 1430 NeH= 2 14 -50 N3N-1 14 17 0 16 -620 AAS= 14 200 N3H+2 0 16 -110 WSs= 15 -110 WH=
12 15 9 -400 BN= 4 12 -100 Z3H 2 6 10 650 Z4H+1 6 10 90 NIN= 18 1 3 13 -170 @3S+1 | 10 6 650 NAH+1 4 12 -50 Z2N-1 9 50 VBH 1
16 13 9 -400 BN= 2 14 -120 WIN+1 6 10 650 Z5H= 11 5 120 NIN+1 8 15 9 7 -140 BS= 2 14 200 N3H+2 13 3 150 N2N+1 9 50 2S-1
6 9 15 1 50 4H 1| 15 1 200 A2S-2| 14 2 680 z4H+2| 8 8 110 Z22H= 16 11 14 2 0 PAS 10 6 650 NAH+1 4 12 -50 z4H 1 16 0 180 Z1N+3
5 14 15 -430 BN+1 | 10 6 100 OLN-1 6 10 650 Z4H+1 14 -50 ZIN1 7 2 16 0 100 Bs-1| 10 650 NAH+1 16 0 300 Qesl-- 13 150 N1IN+2
8 9 -400 BN= 10 100 OLN-1 6 10 650 NAH+1 15 1 140 N2H+1 3 10 9 7 -140 BS= 16 0 680 NdH+2| 4 12 -50 N2N-1 4 12 -100 N2S-1
11 2 9 -400 WBN= 6 10 -80 OlS= 6 10 650 NAH+1 15 1 140 N2H+1 13 4 7 -140 BS= 10 650 NMH+1 | 10 6 120 ZIN+1 | 10 6 120 ZIN+1
7 10 12 4 -120 2N= | 10 6 100 2S-1 6 10 650 NAH+1 11 5 120 N2N= 9 12 13 -170 A2s+2 | 10 6 650 NAH+1 13 3 150 N2N+1| 1 15 -110 WH=
NZ OW|gift 13 NZ OW gift 14 Nz oW gift 15 N2 OwW gift 16 NZ OW NZ OW|gift 17 NZ OW gift 18 Nz OW gift 19 N2 oW gift 20 Nz oW
8 11 5 -600 BN= 1 15 -100 N2N-2 7 9 170 N2H+2 9 7 -120 OLN+1 9 10 13 3 450 NMAS+1| 14 2 90 NIN= 11 -600 BN= 0 16 -100 M4S-1
3 16 0 300 BN-3| 16 0 150 N2N+1| 7 9 170 N2H+2 16 0 100 BN 1 4 13 3 450 z4s+1| 11 5 50 O1H1 7 -150 O2N+1 16 0 620 z4s=
10 17 11 5 -600 BN= 5 11 -50 Z2N-1 7 9 170 N2H+2 9 7 -120 WAN+1 12 16 0 480 z4S+2| 8 8 -80 OlLH= 15 -630 GB3N+1 6 10 170 Z2S+2
18 13 3 13 -660 O3N+2 5 11 -50 N3R-1 7 9 170 Z2H+2 9 7 -120 WLN+1 17 9 7 420 N4S= 6 10 -90 OLN= 12 4 -140 BH= | 10 6 180 N2N+2
15 4 3 13 -660 O3N+2 12 4 120 N2N= 7 9 170 N2H+2 1 15 -150 OLN+2 11 18 6 10 400 N3N= 11 5 50 &2H 1] 9 7 -150 O2N+1 14 2 210 Z2N+3
9 16 3 13 -660 O3N+2 12 4 120 NIN#1| O 16 -200 NAH-2 9 7 -120 WLN+1 15 14 0 16 -100 MS-2 0 16 -200 N2N-2 14 2 -120 &2N= | 10 6 180 NIN+3
5 12 3 13 -660 O3N+2 8 50 2S-1 16 0 650 zZ4H+1| 1 15 -150 OLN+2 7 16 4 12 230 N2S+4 4 12 -100 NIN-1 15 -630 GB3N+1 4 12 150 NIN+2
6 11 5 -600 B8N= 15 -100 N3R-2 7 9 170 N2H+2 9 7 -120 OLN+1 3 9 7 420 NAS= 2 14 -120 OLNt+1 11 -600 BN= 2 14 140 N3S=
11 14 11 5 -600 BN= 12 4 120 N2N= 14 2 620 NMH= 9 7 -120 WAN+1 13 2 14 -50 M4S-1 16 0 100 WAN-2| 16 0 200 VN-2| 10 6 180 Z2N+2
NZ OW|gift 21 NZ OW gift 22 Nz oW gift 23 N2 oW gift 24 Nz OW NZ OW|gift 25 N2 OW gift 26 NZ OW gift 27 N2 OW gift 28 Nz oW
11 12 16 0 200 &BN-4| 7 9 450 N4S+1 | 10 6 110 N2R+1 4 12 -400 BN= 13 14 14 2 -150 GBR+2| 10 6 -600 OBN= 11 5 -100 zZ3N-2| 7 9 650 Z5S=
6 7 0 16 -470 WBR! = 0 16 -850 WhH = 8 8 100 WMR-1 0 16 -550 WBN = 9 10 6 -170 2R+4 14 2 100 4H 1| 3 13 -150 N3N-3 7 9 650 N4AS+1
14 3 14 2 100 WIN-2| 16 0 790 z4S!'+z 0 16 -120 VN= 8 8 -150 VN+1 5 5 11 -600 O6R= 14 2 100 4H1| 11 5 -100 N3N-2| O 16 -100 M4S-1
13 7 9 -90 ZR= 12 4 480 zZ5S+1| 6 10 90 NIN= 4 12 -400 VBN= 10 14 2 -150 BR+2| 4 12 -620 4H= 11 5 -100 N3N-2| 7 9 650 N4AS+1
17 10 6 80 N1H= 9 450 N4S+1 14 -100 N2N-1 15 1 -50 N2S-1 11 4 5 11 -600 BN= 4 12 -620 AH= 11 5 -100 N3N-2| 15 1 680 NAS+H2
9 18 9 -90 WN= 14 -620 WiH= 13 3 120 NIN+1| 10 6 -120 WLN+1 17 12 0 16 -630 OG3N+1 14 2 100 4H 1| 3 13 -150 N3N-3 15 1 680 N4AS+2
15 10 14 -200 N2S-2 12 4 480 NAS+2| 13 3 120 NIN+1| 12 4 -100 N2SI'-1 |7 18 5 11 -600 OBR= 4 12 -620 AH= 11 5 -100 N3N-2| 7 9 650 N4AS+1
5 16 12 4 90 NIN= 4 12 100 WH1 4 12 -90 WIN= 15 1 -50 N2S-1 15 6 14 2 -150 BR+2| 4 12 -620 4H= 11 5 -100 N3N-2| 7 9 650 N5S=
1 4 4 12 -150 OLN+2 12 4 480 NAS+2| 16 0 300 ®@H3| 4 12 -400 BN= 3 16 5 11 -600 OBR= 4 12 -620 AH= 0 16 -200 N3N-4 7 9 650 N4AS+1




